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In the cycle of carbon, CO2 is being inhaled by plants,  splitting  the molecule  
by photosynthesis, using the carbon atom to grow, exhaling oxygen. 
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Over  millions of years, organic remains  
turn  into coal, oil and/or natural gas. 
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Deforestation disturbs the balance of the carbon cycle. 
Excess CO2 ends up in atmosphere. 



5/19/2013 5 

C 

Excess CO2 ends up in atmosphere. 
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Excess CO2 ends up in atmosphere, where it accumulates. 
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Excess CO2 ends up in atmosphere, where it accumulates. 


